	Cis 350, 2003   QUIZ #2  (Total: 10 points + 2 Bonus points)
NAME:


(3 points)

Imagine a gray-level image, given by a 2D matrix. Compute the mean gray-value !
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(2 points)
Which of the following histograms represents an image with higher contrast ?
	
[image: image1]
	
[image: image2]


(2 points)

Assume a series of gray-value images given by a MATLAB 3D Matrix. What is the command to set the gray-value of pixel (frame: 17, column: 5, row: 3) to 0 ?
(3 points)

Given a (3 x 4) matrix A and a (9 x 2) matrix B in MATLAB, what is the effect of:
A(:,:)=B(:,:) ?

· copies matrix B to A

· copies matrix A to B

· shows error message because of dimension mismatch

· extends A to (9 x 4) and fills new cells with values of A

Bonus: 2 Points
The ‘hist2’ command of MATLAB results in a vector, giving the number of pixels of all grayvalues (0 – 255). Is it possible to compute the mean of the image by computing the histogram, followed by the mean of the histogram (i.e.. h=hist2(image); m=mean(h)) ?
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